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Lesson 8

Standards of Learning: A.9

Reporting Category:  Equations and Inequalities
BIG IDEAS: Solving Systems of Equations 

Check and Review of Previous Work/Anticipatory Set with Graphing Calculators 

· Warm-Up A.9 (Solving Systems)

Modeling

· Algeblocks™--Use the Algeblocks™ Teacher Resource Book Lab – 12-5

· Graphing Calculator

Guided Practice/Games and Activities

· Quotable Puzzle

· People Search

· Solving Systems of Linear Equations

Independent Practice

Independent Practice #8 (SOL A.9)

Follow-Up for Guided Practice

· Follow-Up guided practice based upon individual student needs

· Practice Standards of Learning Tests on Computer

· www.jlab.org
· ARDT (strand test form A or B)

EPAT

Assessment

Standards of Learning Mini-Challenge #8
SOL Warm-Up

Graphing Calculator Active
A.9a Solving systems of two linear equations in two variables 

1.
What is the solution to the system of equations? 
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y   x  10


A   (12, 16)

B   (-12, 8)

C   (-12, -8)

D   (0, -16)

2. 
What is the solution to the system of equations? 
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A   (1, 5)

B   (5, -1)

C   (5, 1)

D   (-2, 4)

3.  
What is the solution to the system of equations? 
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A   (3, -1)

B   (9, 5)

C   (2, -1)

D   (1, -3)

4.       How many solutions does the following system have? 
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A   no solution

B   one

C   two

D   infinite
SOL Warm-Up

Graphing Calculator Active

A.9b Solving systems of two linear equations in two variables 

1. 
What is the solution to the system of equations?
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A   (2, 7)

B   (1, -1)

C   (5, 1)

D   (7, 5)

2. 
What is the solution to the system of equations?
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A   (1, 5)

B   (0, 3)

C   (5, 1)

D   (5, 3)

3. 
What is the solution to the system of equations?
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A   (10, -2)

B   (60, 8)

C   ( 5, -3)

D   (-10, 2)
SOL Warm-Up

Graphing Calculator Active

A.9c Solving systems of two linear equations in two variables 

1.
What is the solution to the system of equations?
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A   ( 4,
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D   (7, 1)

2.
What is the solution to the system of equations?
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A   ( 0, -2)

B   ( 2, -5)

C   (-2, 0)

D   (-2, 5)

3.  
What is the value of y in the equation x + 7y = 16,  if (2, y) is a solution of the equation?

A  -16

B  -2

C   2

D   16
SOL Warm-Up

Graphing Calculator Active

A.9d Solving systems of two linear equations in two variables

1. 
There are 33 students in an Algebra I class. There are 7 fewer girls than boys. How many girls are in the class?

A   13

B   18

C   20

D   26

2.
A rectangle’s length is 8 meters more than three times the width. The perimeter is 80 meters. What is the length?

A   8 m

B   24 m

C   32 m

D   40 m

3. 
Bob bought 8 hockey tickets for $59. Adult tickets cost $10 each and child tickets cost $3 each. How many adult tickets did he buy?

A   3

B   4

C   5

D   6

4.
 A ball bag contains 44 baseballs. The number of new baseballs is 4 less than twice the number of used baseballs. Which system of equations could you use to find the number of new baseballs, x, and the number of used baseballs, y?

A   x - y = 44; y = 2x - 14

B   x + y = 44; x = 2y - 4

C   x + y = 44; y = 2x - 14

D   x - y = 44; x = 2y + 4
QUOTABLE PUZZLES—Lesson 8

           Equations and Inequalities








     
A.9
Directions:  Solve the following problems.  Match that answer to the correct letter of the alphabet.  Enter that letter of the alphabet on the blank corresponding to the problem number.

___   ___   ___   ___   ___   ___   ___   ___      ___   ___   ___   ___   ___     

  2        10        7        9         5         3         9         4            8         7         1         4        11

___   ___   ___   ___   ___   ___   ___

  2         4        10        6         4        9         5

A            B            C           D            E             F            G         H          I         J         K         L         M

 5                7                1             10               2                 6              -3            8             4          -6            3            0            -2

N            O            P           Q            R             S            T         U         V        W         X         Y         Z

-8               -1             -4              1.5            -5                 -7              9           -9           3.4         -12          -2           11           14

Find the x-coordinate for the solution to



Find the y-coordinate for the 

each  system of equations.





solution to each system of equations.

1.  y = 3x – 8 







9.  2x + y = 5

     y = 4 – x 







     3x – 2y = 4

2.  x + y = 0







10.  7x + 3y = -1

    3x + y = -8







       4x + y = 3

3.  4x + 5y = 11






11.  8x – 3y = -11

        y = 3x – 13  






       2x – 5y = 27







     

4.  x – 5y = 2

    2x + y = 4

5.  x + 3y = 12

     x  –  y = 8

6. x + y = 8

    x – y = 4

7.  2x + 3y = 13

       x – 3y = 2

  







.

8.  13x + 5y = -11

     13x + 11y = 7

People Search—Lesson 8


Equations and Inequalities



                       


A.9
Directions:  Find a different person to answer each of the following questions.  Each person should sign the question they answer.

	Find the solution to this system of equations:

        x + y = 4

        x – y = 6

______________________


	Solve this system of equations by substitution:

               y = 3x

             2x + y = 10

______________________

	Solve this system of equations by elimination:

               x – y = 3

               x + y = 5

________________________


	Solve this system of equations by elimination:

            2x – y = 5

             x  - y = 4

_____________________

	Find the solution to this system of equations:

       4x – 5y = 9

          x = 2y + 3

_________________________


	Find the value of y in the equation x + 7y = 16 if (2, y) is a solution.

_________________________

	Solve this system of equations by graphing:

    4x – y = -10

       x + 2y = 2

_______________________


	Find two numbers whose sum is 25 and difference is 11.

________________________


Find Someone Who Can…

Solving Systems of Linear Equations—Lesson 8

The student will solve systems of two linear equations in two variables, both algebraically and graphically, and apply these techniques to solve practical problems.

SOL A.9

Materials:  problem cards and graphing calculators

Groups:  groups of 4

Game:

Students are in groups of four.  All four students solve the first problem at the same time.  One student solves by graphing; one student solves by linear combination; one student solves by substitution; and the fourth solves using matrices.  After all four students have finished the first problem, they compare answers with each other.  They assist each other to ensure all four solutions are correct before trading problems with another group.  Methods of solving are rotated so that each student gains experience with all four methods.
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	The sum of two numbers is 10.  The difference is 2.  Find the numbers.
	


Independent Practice—Lesson 8

Equations and Inequalities








A.9

Read and solve.
1.  What is the solution to this system of equation:  2x – 6 = 2y







           3 – 2x = y


A.  x = -2, y = -3


B.  x = 0, y = -3


C.  x =1, y = -2


D.  x = 2, y = -1

2.  The length of a rectangle is 2 centimeters longer than its width.  The perimeter is 16 centimeters.  What are the length and width of the rectangle?


A.  7 cm, 5 cm


B.  6 cm, 4 cm


C.  5 cm, 3 cm


D.  4 cm, 2 cm

3.  Which is the solution to the system of equations:  2x + y = 4








 3x – y = -14


A.  (-2, 8)


B.  (-2, 0)


C.  (2, 0)


D.  (0, -2)

4.  One competitor in a 100-mile bicycle race took a total of 5 hours to complete the course.  His average speed in the morning was 23 miles per hour.  His average speed in the afternoon was 13 miles per hour.  How many hours did he ride in the morning, and how many hours did he ride in the afternoon?


A.  Morning:  2.5 hours, Afternoon:  2.5 hours


B.  Morning:  3 hours, Afternoon:  2 hours


C.  Morning:  3.5 hours, Afternoon:  1.5 hours


D.  Morning:  4 hours, Afternoon:  1 hour

5.  Which is the solution to the system of equations:  y = -x








2x – y = 6


A.  (6, -6)


B.  (2, -2)


C.  (0, 0)


D.  (-2, 2)

6.  Which is the solution to the system of equations:  -3x + 7y = 3








  y = 6


A.  (3, 6)


B.  (13, 6)


C.  (-6, 6)


D.  (-15, 6)

Independent Practice—Lesson 8 continued
7.  The sum of two numbers is 25.  One number is twice the second plus seven.  What are the two number?


A.  2, 23


B.  5, 7


C.  6, 19


D.  12, 13

8.  Which is the solution to the system of equations:  2x + y = 5








 3x – 2y = 4


A.  (-1, 2)


B.  (0, 9)


C.  (1, 2)


D.  (2, 1)

9.  The concession stand sells pizza and drinks during football games.  Jack bought 4 drinks and 6 slices of pizza and paid $6.70.  Amy bought 4 slices of pizza and 3 drinks and paid $4.65.  What price is each drink and each slice of pizza?


A.  drinks:  $1.00 each,  pizza:  $1.50 each


B.  drinks:  $0.75 each,  pizza:  $1.00 each


C.  drinks:  $0.55 each,  pizza:  $0.70 each


D.  drinks:  $0.55 each,  pizza:  $0.75 each

10.  Which is the solution to the system of equations:  x = 4








   y = 6x – 3 


A.  (7/6, 4)


B.  (4, 7)


C.  (4, 21)


D.  (7, 4)

SOL Mini-Challenge—Lesson 8

Equations and Inequalities

A.9

Read and solve.

1.  What is the solution to this system of equations:  5x + 4y = 22








3x + 4y = 10


A.  x = 2, y = 2


B.  x = 2, y = 3


C.  x = 2, y = 1


D.  x = 6, y = -2

2.
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Which is most likely the solution to the
system of equations shown in the
graph?

F (4,3)

G (72,0)

H 3,4

J (1,0




3.   What is the solution to this system of equations:  x = y + 9








x + y = 11


A.  (0, 9)


B.  (1, 10)


C.  (10, 1)


D.  (10, 10)

4.  What is the solution to this system of equations:  2m + n = 1








  m – n = 8


F.  (3, -5)


G.  (-3, 5)


H.  (5, -3)

J. (-5, 3)

SOL Mini-Challenge—Lesson 8 continued

5.  What is the solution to this system of equations:    x – 5y = 0








2x – 3y = 7



A.  (-1, 5)


B.  ( 2, 10)


C.  ( 1, 5)


D.  (5, 1)

6.  What is the solution to this system of equations:  y = 2x








x + 2y = 8


F.  (0, 4)


G.  (8/5, 16/5)


H.  (4, 8)


J.   (0, 4/5)

7.  What is the solution to this system of equations:  2x + y = 1








3x – 4y = 7


A.  (-3, 5)


B.  (1, -1)


C.  (5, -3)


D.  (6, -4)

8.  What is the solution to this system of equations:  9x + 8y = 7







          18x – 15y = 14


F.  (0, 7/8)


G.  (7.9, 0)


H.  (1, -1/4)


J.   (2, -11/8)
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